Sr

10

1"

12

13

14

15

Questions

e B oy S 585,

=) e S sl

WS Gojlatie L s g S g0 1S (500 31 5 a3kl

Wl ad (S 2 ds S G maje oSl 2 oS

sl Y S sma ol S S Gyl en)

e o el (S sy

=8 S S im0 s o s sl o U eaS s

:@aﬁgﬂhwd\mﬁiﬂud}yw%)@)\d

O FssS s Oy G s

il o TS A (S Gy e Gidas S 05k

du}g)ﬁ\\ﬂ.}:néha)ﬂb.a

[ .\lz\.ué el el

=S S o5 R e

=Sl i) (S Oshibin (A Jles S e el gy i St pale eS8

= dIS s i S cladly cla 3

Answers Choice

A

OWP DOW > DOWr DOWP» DO®P» DOWP DOEP» DO®P» 00w DOEP» D0WP» 00U U0m» 0OE» 00w

u-"\-.‘}:‘/
RN
320

kY

do> die b
S oy,
e 2
B SRS

BT
ok

o
:JB

c’*oi-u
=k
=il A
=daor

lsﬁﬁu)u
el (S galaiel 3 A
o el ola
Cu&ﬁh)g&ﬁ

o L
s 53 O g e
L R
‘j'JJS e
COSS pp
L= .
SO Gl

) ~edle
i

B

ol H‘)g‘
aaldaiil

A
~dac
el

des 5 JB &)
S sl &5
[N eBS]
Pl g @)

4040
5040
6040
7040

e

Se

=AY G

il

Aalia odau &S jida
sl Sl gy .;d
a8 as
Osdsasle

A
)d:)Ll-A
cla
s

°

LA ale
i) yac (J:






